Bitspower®

\ fc &
E7 ASUS ROG Crosshair VI Extreme & &t

(1) BP-ROGX370C6E 14

N | N @ 10 skEnmA 3K
% (3) M2x8.5 BHiR4 4%
WATER ZONE %5 (@ crPustRBA 1k
L RGB?HEADERZJ @ CPUBE 2 1K
(® CPUBIR 1A

@ M3x10 =k B 4%

Accessories
Designed for ASUS ROG Crosshair VI Extreme

(1) BP-ROGX370C6E 1SET
(2 1.0 mm Thermal Pad 3PCS
(3 M2x8.5 mm Screw 4PCS
(@ CPU Back Pad 1PCS
(8) CPU Paste Pad 1PCS
(6) CPU Backplate 1PCS
@ M3x10 mm Screw 4 PCS
fc &

% ASUS ROG Crosshair VI Extreme &1t
(1) BP-ROGX370C6E 14
(@ 10 =KSHRBA 3K
(3 M2x8.5 Ekigy 4%
(@ cpumtREA 1A
(B) crPuBBhH 1A
(&) cpPuHiR 1A
(@) M3x10 Zskigy 4%



Bitspower’

BAEMNIEEERIE

EEERENE
B 1 MmEsE s

= KA - AARRASHCREEERNUE L - ERRIH - BERKROELT -
T4 - REERRKELEERIN - B RERKMEM BT HIER -

Thermal Paste Applied Correctly Positions.
Using Appropriate Amount Of Thermal Paste.

[ 1 MM THERMAL PAD

Before fill in water,please make sure all the component be installed correctly,
avoidingleaking happen and destroy the PC component.

AN

AR - KA - BERIAMASHERREERNMEE - £FFEN - BFKRNERT
HIT24/NNEEKINE - RRERKIEREETEN - BRRERKNS KBRS HAIRA -

V1/58—hR




